

4212 GLENCOE AVE MARINA DEL REY, CA 90292

O: 310-822-2600 F: 310-822-2606 www.rnrllc.com

Date	Invoice No.
10/17/16	312

Bill To	

Balance Due

\$1,289.91

Year/ Make / Model		Serial or	Miles or KM	
	206 DINO	S/N: 0	0120	
Item	Description	Quantity	Rate	Amount
BODY WORK 2	CLEAN AND MASK REAR WHEEL WELLS. MAKE TEMPLATE AROUND MARK. CUT AND TRIM GLASS CLOTH. MIX AND APPLY RESIN/CLOTH/RESIN TOP COAT. SAND AND CLEAN LEFT REAR AND REAR LOWER QUARTERPANEL. OPEN WRAP AROUND REAR WHEEL WELL. APPLY RESIN, APPLY GLASS, TUCK UNDER BODY WRAP, AND TOP COAT IN RESIN. HAMMER AND DOLLY SKIN WRAP BACK DOWN. CLEAN ALL AREAS.	4	89.00	356.00
MATERIALS	8 SQ. FT. FIBERGLASS MAT, 16 OZ. RESIN, MASKING PAPER, TAPE.		60.00	60.00T
BODY WORK 2	MEASURE, CUT, AND LAY UP GLASS TO REPAIR OR REINFORCE FOR RIGHT REAR WHEELWELL, AND SPARE WHEEL COMPARTMENT.	4	89.00	356.00
MATERIALS	24 OZ. RESIN, 12 SQ FT FIBERGLASS MAT, PAPER, TAPE, (2) MIXING CUPS, (2) BRUSHES.		89.00	89.00T
BODY WORK 2	CLEAN TRUNK COMPARTMENT. MEASURE, CUT GLASS. MIX AND APPLY RESIN. MEASURE AND LAY UP GLASS MAT ON FRONT RIGHT WHEEL OPENING INNER PANEL AS WELL AS INSIDE OF NOSE PANEL OVER FRAME RAILS.	3.75	89.00	333.75
MATERIALS	8 SQ FT FIBERGLASS MAT, 24 OZ. RESIN, MASKING PAPER, TAPE, (2) MIXING CUPS, (3) BRUSHES.		75.00	75.00T
			Subtotal	\$1,269.75
			Sales Tax (9.0%)	\$20.16
			Total	\$1,289.91



4212 GLENCOE AVE MARINA DEL REY, CA 90292

O: 310-822-2600 F: 310-822-2606 www.rnrllc.com

Date	Invoice No.		
10/18/16	315		

Bill To			

Balance Due

\$794.65

Year/ Make / Model		Serial or VIN #		Miles or KM	
	206 DINO			ANNARCE MINISTER AND	
Item	Description	Quantity	Rate	Amount	
UPHOLSTERY	PREP INSERT FRAME, INSTALL RUBBER VELCRO, INSERT FOAM, RE-ENFORCE CENTER RUBBER, VELCRO CENTER LINE FOAM TO VELCRO COVER	5	89.00	445.00	
JPHOLSTERY	INSTALL INSERT COVERS, STITCH, VELCRO FRONT FRAME TO SECURE COVER, INSTALL INSERTS TO SEAT FRAMES	3.5	89.00	311.50	
MATERIALS	VELCRO, STAPLES, GLUE, THREADING, RAZOR BLADES, NEEDLE, ETC		35.00	35.007	
			Subtotal	\$791.50	
			Sales Tax (9.0%)	\$3.18	
		8	Total	\$794.65	



 Date
 Invoice No.

 10/25/16
 316

4212 GLENCOE AVE MARINA DEL REY, CA 90292

Bill To			

Item Description  BODY WORK 2 PREPARE AND REINFORCE SPARE TIRE TUB SUPPORT PANEL. PREPARE AND REPAIR LEFT FRONT FLOOR INSIDE OF WHEELWELL. PREPARE AND REPAIR CRACKS IN RIGHT REAR WHEELWELL.  MATERIALS 4 SQ FEET OF GLASS MAT, RESIN, MASKING PAPER, TAPE, 1 FOOT 80 GRIT ROLL, 80 GRIT DA INITIAL REPAIRING OF FLOORBOARD AREAS. CLEAR OUT BAD RUST AND ROTTED GLASS ALONG DOOR STEP PLATES.  MATERIALS 80 GRIT DA (2) PCS.  BODY WORK 2 REMOVE RUST ALONG DOOR STEP/GLASS SEAM. ACID TREAT METAL. MEASURE AND CUT GLASS MAT TO RE-COVER SEAM. PREPARE AND REPAIR SEAM AREA, SCUFF, CLEAN AND APPLY RESIN WITH GLASS MAT.  MATERIALS 3 SQ. FEET GLASS MAT, RESIN, MASKING PAPER, 80 GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN UP ALL AREAS. MATERIALS 6 SQ. FEET GLASS MAT, RESIN, MASKING PAPER, 80	C/NI O		Miles or KM
PREPARE AND REINFORCE SPARE TIRE TUB SUPPORT PANEL. PREPARE AND REPAIR LEFT FRONT FLOOR INSIDE OF WHEELWELL. PREPARE AND REPAIR CRACKS IN RIGHT REAR WHEELWELL.  MATERIALS  MATERIALS  MATERIALS  BODY WORK 2  INITIAL REPAIRING OF FLOORBOARD AREAS. CLEAR OUT BAD RUST AND ROTTED GLASS ALONG DOOR STEP PLATES.  MATERIALS  BODY WORK 2  MATERIALS  BODY WORK 2  REMOVE RUST ALONG DOOR STEP/GLASS SEAM. ACID TREAT METAL. MEASURE AND CUT GLASS MAT TO RE-COVER SEAM. PREPARE AND REPAIR SEAM AREA, SCUFF, CLEAN AND APPLY RESIN WITH GLASS MAT.  MATERIALS  BODY WORK 2  BODY WORK 2  BODY WORK 2  REMOVE RUST ALONG DOOR STEP/GLASS SEAM. ACID TREAT METAL. MEASURE AND CUT GLASS MAT.  GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN UP ALL AREAS.	5/N 0	0120	eletarintesse enimpo metrosobio in lay bij misoposema lekateletika 3, na alis
PANEL. PREPARE AND REPAIR LEFT FRONT FLOOR INSIDE OF WHEELWELL. PREPARE AND REPAIR CRACKS IN RIGHT REAR WHEELWELL. 4 SQ FEET OF GLASS MAT, RESIN, MASKING PAPER, TAPE, 1 FOOT 80 GRIT ROLL, 80 GRIT DA INITIAL REPAIRING OF FLOORBOARD AREAS. CLEAR OUT BAD RUST AND ROTTED GLASS ALONG DOOR STEP PLATES. 80 GRIT DA (2) PCS. BODY WORK 2 REMOVE RUST ALONG DOOR STEP/GLASS SEAM. ACID TREAT METAL. MEASURE AND CUT GLASS MAT TO RE-COVER SEAM. PREPARE AND REPAIR SEAM AREA, SCUFF, CLEAN AND APPLY RESIN WITH GLASS MAT. 3 SQ. FEET GLASS MAT, RESIN, MASKING PAPER, 80 GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN UP ALL AREAS.	Quantity	Rate	Amount
TAPE, 1 FOOT 80 GRIT ROLL, 80 GRIT DA INITIAL REPAIRING OF FLOORBOARD AREAS. CLEAR OUT BAD RUST AND ROTTED GLASS ALONG DOOR STEP PLATES.  MATERIALS  BODY WORK 2  REMOVE RUST ALONG DOOR STEP/GLASS SEAM. ACID TREAT METAL. MEASURE AND CUT GLASS MAT TO RE-COVER SEAM. PREPARE AND REPAIR SEAM AREA, SCUFF, CLEAN AND APPLY RESIN WITH GLASS MAT.  3 SQ. FEET GLASS MAT, RESIN, MASKING PAPER, 80 GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN AND SCUFF AREAS AND APPLY RESIN AND GLASS MAT. CLEAN UP ALL AREAS.	4.5	89.00	400.50
BODY WORK 2  INITIAL REPAIRING OF FLOORBOARD AREAS. CLEAR OUT BAD RUST AND ROTTED GLASS ALONG DOOR STEP PLATES.  80 GRIT DA (2) PCS.  REMOVE RUST ALONG DOOR STEP/GLASS SEAM. ACID TREAT METAL. MEASURE AND CUT GLASS MAT TO RE-COVER SEAM. PREPARE AND REPAIR SEAM AREA, SCUFF, CLEAN AND APPLY RESIN WITH GLASS MAT.  3 SQ. FEET GLASS MAT, RESIN, MASKING PAPER, 80 GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN AND SCUFF AREAS AND APPLY RESIN AND GLASS MAT. CLEAN UP ALL AREAS.		160.00	160.00T
BODY WORK 2  REMOVE RUST ALONG DOOR STEP/GLASS SEAM. ACID TREAT METAL. MEASURE AND CUT GLASS MAT TO RE-COVER SEAM. PREPARE AND REPAIR SEAM AREA, SCUFF, CLEAN AND APPLY RESIN WITH GLASS MAT. 3 SQ. FEET GLASS MAT, RESIN, MASKING PAPER, 80 GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN AND SCUFF AREAS AND APPLY RESIN AND GLASS MAT. CLEAN UP ALL AREAS.	2	89.00	178.00
ACID TREAT METAL. MEASURE AND CUT GLASS MAT TO RE-COVER SEAM. PREPARE AND REPAIR SEAM AREA, SCUFF, CLEAN AND APPLY RESIN WITH GLASS MAT.  3 SQ. FEET GLASS MAT, RESIN, MASKING PAPER, 80 GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN AND SCUFF AREAS AND APPLY RESIN AND GLASS MAT. CLEAN UP ALL AREAS.		0.00	0.00T
GRIT DA (2 PCS.), METAL PREP RUST CONVERTER. PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN AND SCUFF AREAS AND APPLY RESIN AND GLASS MAT. CLEAN UP ALL AREAS.	2.75	89.00	244.75
BODY WORK 2 PREPARE THE REMAINING FLOORBOARDS FOR REINFORCMENT AND TUNNEL REPAIR. MEASURE AND CUT GLASS MAT. CLEAN AND SCUFF AREAS AND APPLY RESIN AND GLASS MAT. CLEAN UP ALL AREAS.		170.00	170.00T
The second secon	2.75	89.00	244.75
GRIT SANDPAPER, 1 FOOT 80 GRIT ROLL, BRUSH.		190.00	190.00T
BODY WORK 2 CLEAN UP GLASS REPAIRS, SQUARE UP CORNERS, SAND EVEN ALL EDGES. CLEAR OUT AND CLEAN EXCESS GLASS.	4	89.00	356.00
MATERIALS  80 GRIT ROLL (1 FOOT), 80 GRIT DA (4 PCS.), 150 GRIT ROLOC DISK.		45.00	45.00T
		Subtotal	\$1,989.00
		Sales Tax (9.0%)	\$50.85
		Total	\$2,039.85
		Balance Due	\$2,039.85



4212 GLENCOE AVE MARINA DEL REY, CA 90292

Date	Invoice No.		
11/01/16	319		

Bill To		

	Year/ Make / Model	Serial or V	/IN #	Miles or KM
	206 DINO	00120	)	de de constitución de la constit
Item	Description	Quantity	Rate	Amount
R&D	MEASURE COMPLETE INTERIOR AND VERIFY CLEARANCES (CABIN CARPETING, CABIN VINYL, CENTER CONSOLE, REAR FIREWALL, SUNVISORS, HEADLINER, DASH MATERIAL, TRUNK CARPETING, TRUNK BINDING, JUTE, TAILLIGHT PANEL, ETC). VERIFY CORRECT CARPET PILE STYLE AND COLOR, ORDER ALL COMPONENTS IN CUSTOM LENGTHS.	1.5	89.00	133.50
R&D	RESEARCH ON LOCATING MISSING GRAB HANDLE AND SUPPORTS ON PASSENGER SIDE, TRUNK CARPETING DETAILS	0.75	89.00	66.75
R&D	RESEARCHING CORRECT STITCHING ON MISC INTERIOR COMPONENTS	0.5	89.00	44.50
		S	ubtotal	\$244.75

\$244.75
\$0.00
\$244.75
\$244.75



4212 GLENCOE AVE MARINA DEL REY, CA 90292

Date	Invoice No.		
11/20/16	326		

Bill To		
		200200

Year/ Make / Model		Serial or VIN #		Miles or KM
	206 DINO	S/N 00	120	operfectives agent were about the left agreement or limited and an experience
Item	Description	Quantity	Rate	Amount
UPHOLSTERY	RE-COVER CENTER CONSOLE TRIM. STITCH & INSTALL BACK CENTER CONSOLE BY HAND-BREAK COVER. TRIM, STITCH & INSTALL VINYL. FOAM & ADHESIVE	5	89.00 45.00	445.00 45.00
			Subtotal Sales Tax (9.0%)	\$490.00 \$0.00
		a a a a a a a a a a a a a a a a a a a	Total	\$490.00
			D. I D	¢400.00

Subtotal	\$490.00
Sales Tax (9.0%)	\$0.00
Total	\$490.00
Balance Due	\$490.00



4212 GLENCOE AVE MARINA DEL REY, CA 90292

O: 310-822-2600 F: 310-822-2606 www.rnrllc.com

Date	Invoice No.
12/24/16	342

Bill To	Algebra	The Assis	

Balance Due

\$8,336.64

	Year/ Make / Model	Serial o	r VIN#	Miles or KM
	206 DINO	S/N 0	0120	AMARIAN KARANINA CELENA HERANINA YA YAYARINA KANDI
Item	Description	Quantity	Rate	Amount
SB LABOR CHARGE	ALUMINUM SKIN METAL MANIPULATION, MASSAGING, DENT REMOVALS, PANEL ALIGNMENTS		4,080.00	4,080.00
SB LABOR CHARGE	FLATBED SERVICE FROM RNR TO BODYSHOP FOR ALUMINUM WORK. FLATBED SERVICE FROM BODYSHOP BACK TO RNR	2	175.00	350.00
MATERIALS	HVL PRODUCT: 5 METERS GREY LOOP PILE TRUNK CARPET- CLOSE ALTERNATIVE FOR 206 & 246L-SERIES		948.24	948.24T
MATERIALS	HVL PRODUCT: 6 METERS BLACK GREY MELANGE CUT PILE CABIN CARPET		1,103.05	1,103.05T
MATERIALS	HVL PRODUCT: HEEL PAD SET		83.93	83.93T
SHIPPING	SHIPPING & HANDLING COSTS FROM HVL TO RNR (EXTRA LENGTH ADDED CHARGE)		400.00	400.00
SB LABOR CHARGE	FLATBED SERVICE FROM RNR TO METAL SHOP		295.00	295.00
R&D	RESEARCH & PURCHASE CENTER DISC FOR RIMS	0.75	89.00	66.75
PARTS	CHROME COVER RUDGE WHEEL (KNOCK OFF CENTERED DISC PLATE)	5	150.00	750.00T
			Subtotal Sales Tax (9.0%)	\$8,076.97 \$259.67
			Total	\$8,336.64



4212 GLENCOE AVE MARINA DEL REY, CA 90292

Date	Invoice No.	100000000000000000000000000000000000000
09/10/16	290	

Bill To	

	Year/ Make / Model		r VIN #	Miles or KM	
	1968 206 DINO			and the state of t	
Item	Description	Quantity	Rate	Amount	
UPHOLSTERY	PREP DOOR PANELS & FAB BRACKETS FOR LOWER	1	89.00	89.00	
	CLIPS	_		115.00	
UPHOLSTERY	PREP DOORS PANELS TO BE UPHOLSTERED.	5	89.00	445.00	
	UPHOLSTER NEW FOAM TRIM CENTER INSERT,				
	UPHOLSTER DOOR PANELS WITH VINYL, PREP INSERTS, VINYL FOAM STITCH.				
UPHOLSTERY	UPHOLSTER DOOR PANEL INSERTS, SECURE STUDS	6	89.00	534.00	
OFFICEOTER	PASSENGER SIDE DOOR INSERT, COMPLETE DOOR		00.00	001100	
	PANELS WITH INSERTS. UPHOLSTER PIPING TO GLUE				
	AROUND DOOR PANELS		2		
UPHOLSTERY	CUT & RIVET TACK STRIPS FOR 2 SEATS. START	2.5	89.00	222.50	
	DISASSEMBLE DRIVER SEAT.				
UPHOLSTERY	REMOVE OLD VINYL AND FOAM COVERS, CLEAN OLD	12	89.00	1,068.00	
	ADHESIVE, REMOVE SURFACE RUST & RE-FINISH				
	FRAME. INSTALL NEW TACK STRIPS & NEW WEBING.				
	CLEAN BACKREST PANEL, REMOVE OLD VINYL &				
UPHOLSTERY	ADHESIVE FOR 2 SEATS.  UPHOLSTER FRONT SEATS, VINYL BOLSTERS.	27	89.00	2,403.00	
OFTIOLSTEIN	UPHOLSTER CENTER INSERTS & VELOUR.	21	00.00	2,100.00	
R&D	RESEARCH 206 DASH (THIS VEHICLE HAS MODIFIED	1	55.00	55.00	
	DASHBOARD). + RESEARCH AND LOCATE DOOR				
	POCKETS.				
MATERIALS	FOAM ADHESIVE, VELCRO, THREAD, RIVETS,		223.00	223.00T	
	CLEANING THINNERS, RAZOR BLADES, SEAT WEBING,				
	PAINT		0.005.00	0.005.00	
SB LABOR	COMPLETE REBUILD OF ALL GUAGES AND CALIBRATE		2,335.00	2,335.00	
CHARGE	TO CORRECT SPECS, REFACE POLISH/REPLACE				
	LENSES AND PLATE AS NECESSARY.  SPPEDO,TACH,CLOCK,OIL PRESS,OIL TEMP,WATER				
	TEMP, FUEL, AMP, CABLES				
PARTS AND	PURCHASE USED VEGLIA USED FUEL GUAGE DUE TO		350.00	350.00T	
MATERIAL	INCORRECT GUAGE IN THE CAR. REBUILD WAS				
PURCHASE	INCLUDED WITH SET OF GUAGES				
R&D	LOCATE PERIOD CORRECT VEGLIA FUEL GUAGE	0.75	55.00	41.25	
			Subtotal	\$7,765.75	
			Sales Tax (9.0%)	\$51.57	
			Total	\$7,817.32	
			Balance Due	\$7,817.32	



4212 GLENCOE AVE MARINA DEL REY, CA 90292

O: 310-822-2600 F: 310-822-2606 www.rnrllc.com

Date	Invoice No.	
09/17/16	295	

Bill To			

Balance Due

\$1,745.50

Year/ Make / Model		Serial or VIN #		Miles or KM
Property and the second se	206 DINO			
Item	Description	Quantity	Rate	Amount
UPHOLSTERY MATERIALS	MODIFY SEAT FOAM, SHAPE TO OBTAIN ACCURATE CONTOURING, 2 SEATS INSTALL VINYL COVER, 2 SEATS GLUE, SANDING BELT PAPER, STAPLES	11 8	89.00 89.00 50.00	979.00 712.00 50.00T
			Subtotal	\$1,741.00
			Sales Tax (9.0%)	
			Total	\$1,745.50



Date Invoice No. 09/29/16 302

4212 GLENCOE AVE MARINA DEL REY, CA 90292

Bill To			

Miles or KM	Serial or VIN #		Year/ Make / Model		
	20	0012	206 DINO		
Amount	Rate	Quantity	Description	Item	
178.00	89.00	2	FIBERGLASS REPAIR: GRIND, SAND, AND REPAIR AREAS ON CENTER CONSOLE. CUT GLASS CLOTH TO SHAPE AND FIT TO AFFECTED AREAS. MIX AND APPLY RESIN+CLOTH. CLEAN ALL PARTS.	BODY WORK 2	
35.007	35.00		SQUARE FOOT FIBERGLASS CLOTH, RESIN, SANDPAPER, MASKING PAPER FOR RESIN CATCH, TAPE.	MATERIALS	
1,157.00	89.00	13	PREP AND SAND (5) CROMODORA WHEELS, MASK OFF AROUND NUMBER STAMPS, APPLY STRIPPER TO CLARIFY NUMBER STAMPS, WIRE BRUSH AND REPEAT STRIPPING PROCESS ON NUMBER STAMPS.  NEUTRALIZE STRIPPER, AND CLEAN WHEELS.	BODY WORK 2	
20.007	20.00		400/600 GRIT SANDPAPER, TAPE, PAINT STRIPPER, WIRE BRUSH.	MATERIALS	
979.00	89.00	11	FEATHER OUT PAINT+PRIMER AROUND NUMBERS STAMP. FINISH IN 320 GRIT. INSPECT AND APPLY PUTTY ON IMPERFECTIONS. SAND PUTTY AND MASK NUMBER STAMP FOR PRIMER. PRIME NUMBER STAMPS AND LOGOS, CLEAN AREAS. FINISH DETAILS OF NUMBER STAMPS, SAND DETAIL AREAS OF NUMBERS, REPRIME NUMBERS AND LOGOS. CLEAN ALL (5) WHEELS, APPLY FINAL GUIDE COAT, FINAL SAND, AND INSPECT FOR IMPERFECTIONS.	BODY WORK 2	
55.007	55.00		180/320/600 GRIT, 1.5" TAPE ROLL, MASKING PAPER, PUTTY, SELF ETCH PRIMER, GRAY SCOTCHBRITE,	MATERIALS	
\$2,424.00	Subtotal				
\$9.90	Sales Tax (9.0%)			COLUMN TO THE PROPERTY OF THE	
\$2,433.90	Total				
\$2,433.90	Balance Due	Ì			



4212 GLENCOE AVE MARINA DEL REY, CA 90292

O: 310-822-2600 F: 310-822-2606 www.rnrllc.com

Date	Invoice No.		
10/10/16	308		

Bill To			

Balance Due

\$138.50

Year/ Make / Model 206 DINO		Serial or VIN # S/N: 00120		Miles or KM
BODY WORK 2 MATERIALS	FINISH PUTTY WORK ON WHEELS. SAND AWAY IMPERFECTIONS AND SHAPE. 400/600 GRIT SANDPAPER, PUTTY.	1.25	89.00 25.00	111.25 25.00T
			Subtotal Sales Tax (9.0%)	\$136.25 \$2.25

#### Ferrari 206 Dino GT Coupé Scaglietti 1968, Chassis# 00120

Original exterior color: Arancia Tipo Pininfarina (Rosso Dino)

Original interior color: Nero 161

Chassis type 607

Engine type 135 B, internal #n/a

ALLOY BODY

European version

LHD

1968 Delivered new to official dealer M. Gastone Crepaldi S.a.s,

domiciled at Via San Marco 26 in Milan, Italy

October 1968 Registered on Italian license plates of Milan "MI G 1XXXX"

1970s Exported from Italy to California, USA

1976 to 1980 Owned by Howard L. Ashmore, resident in San José, CA/USA

1980s Sold by Ashmore to Japan

1998 to 2000 Owned by Shimizu, West Tokyo, Japan, painted dark red with black

vinyl interior, using Japanese license plates "35-54"

February 2014 For sale in Tokyo with 46'000 kms

#### © Marcel Massini 16/03/14

#### IMPORTANT LEGAL NOTICE - PLEASE READ VERY CAREFULLY

#### LIABILITY DISCLAIMER

The information in this sheet was produced solely by Marcel Massini and Massini AG/SA/Ltd. and is distributed on an "as is" basis, without warranty. All information within this sheet is for reference only. Marcel Massini and Massini AG/SA/Ltd. are not associated with or sponsored by Ferrari SpA in Modena and Maranello or any of its subsidiaries (such as Ferrari North America) in any manner, except for a mutual appreciation and love of the cars. All pictures and references to the Ferrari name, and the car names and shapes are for information reference only, and do not imply any association with Ferrari SpA in Modena and Maranello or any of its subsidiaries. Marcel Massini and Massini AG/SA/Ltd. are not responsible for any typographical errors contained within this information sheet. Marcel Massini and/or Massini AG/SA/Ltd. make no representations or warranties with respect to the accuracy or completeness of the contents of this information - specifically in regard to the implied valuation and authenticity - beyond the descriptions contained in the paragraphs of this information. By reading and consulting this information sheet, you agree to hold Marcel Massini and Massini AG/SA/Ltd. free from any liability arising out of the use of any information contained therein. The authors shall have no liability to any person or entity with respect to any liability, loss or damage caused - or alleged to be caused - directly or indirectly, by the contents of this information. Marcel Massini and Massini AG/SA/Ltd. shall not be liable for any loss of profit or any other commercial damages, including but not limited to special, incidental, consequential or other damages.

#### COPYRIGHT

This information and any attachment are strictly confidential. No part of this information may be used or reproduced in any manner whatsoever without prior written permission from Marcel-Massini and Massini AG/SA/Ltd. Marcel Massini AG/SA/Ltd. maintain all rights of intellectual and industrial property of this document. The contents of this document include secret know how not available on the market. Any alteration, modification, conversion or manipulation of this document is illegal, strictly forbidden and will be prosecuted. You may not copy this document or any attachment or disclose the contents to any other person. All rights reserved